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Physical Science

Accelerometer Test

1. Identify two states identified in Newton's first law

a) A body at rest

b) A body going at a constant speed in a given direction (constant velocity)

2. What would the accelerometer look like for each of the above?

[image: image1.wmf][image: image2.wmf]a)







b)    
































































3. _An accelerating body_____  Identify another state other than the above.

4. How would you be able to detect the difference between the accelerometers in #2 and #3?

Accelerometers that are in an accelerated state (#3) will show a slope in the liquid level.

5. What would the accelerometer look like if you gave it a "medium" push? 



Force  >

                           >  >  >

6. What would the accelerometer look like as it coasts after being pushed (neglect friction) ?




                                       >  >  >

7. What would the accelerometer look like as it is being stopped?

     







             < Force

                  >  >  >

8. Identify what the accelerometer would look like if held at arms length and you spin around?

  










































9. What does the observation of the accelerometer tell you about the force being applied?

(What is the direction of the force?)

       The direction of the applied force is inward (pulling the accelerometer) causing the           

       accelerometer to slope inward. This means the acceleration is inward.

10. Identify what will happen to the accelerometer when it moves back and forth on a cart connected on the ends by two springs?











            Stopped at End
             >>>>Center>>>>

Stopped at End

11. Describe the forces being applied to the accelerometer as it moves to the right (as above).

      The spring force is the greatest when it is stretched farther. This means that the greatest force 

     on the accelerometer from the spring on the right will be as the cart comes to a stop going to the 

     left and begins to be pulled back to the right. As the cart moves right, towards the middle, the 

     force is reduced. As the cart passes the middle the two springs are equal, therefore balanced 

     forces (no acceleration) and the liquid is level.  As the cart continues tot he right (past center) the 

     spring on the left begins to pull back, slowing the cart down. 

12. What would an accelerometer look like that is placed in the center of a turn table and is    

       spinning?


Both accelerometers should be level
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The accelerometer liquid will be sloped in the direction of  the net force which produces the medium acceleration.





The accelerometer liquid should be level





The accelerometer liquid will be sloped in the direction of  the net force which produces the  acceleration. The amount of force will determine the slope.








Turntable





Spinning





The shape should be parabolic 
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